
Sheet4

ページ 1

TCS-500P

製品ｺｰﾄﾞ 展開図番号 部品ｺｰﾄﾞ 品名 要数
526230 001 420215VB0 ｽﾛﾂﾄﾙﾊﾞﾙﾌﾞ 2

526230 002 426230E90 1

526230 003 426230F00 1

526230 004 426230C70 ｽﾌﾟﾘﾝｸﾞｼｰﾄ 2

526230 005 426230A20 ﾊﾞﾙﾌﾞｷﾔﾂﾌﾟ 2

526230 006 426230060 ﾊﾞﾙﾌﾞﾎﾞﾃﾞｰ 1

526230 007 426230A30 ﾌﾞﾂｼﾕｷﾔﾂﾌﾟ 2

526230 008 426230C60 ﾋﾟｽﾄﾝ 2

526230 009 426230810 ｴｷｿﾞｰｽﾄﾌﾟﾚｰﾄ 1

526230 010 137402023 4

526230 011 426230A10 ｱｼﾞﾔｽﾄｷﾔﾂﾌﾟ 2

526230 012 134703070 ｲﾝﾚﾂﾄﾌﾞﾂｼﾝｸﾞ 1

526230 013 136803032 1

526230 014 130802221 ﾊﾞﾙﾌﾞｽﾌﾟﾘﾝｸﾞ 2

526230 015 130802224 2

526230 016 136102165 ﾊﾞﾙﾌﾞｶﾞｽｹﾂﾄ 1

526230 017 130219705 2

526230 018 131705050 4

526230 019 131905010 2

526230 020 132105005 2

526230 021 131103005 2

526230 022 131103013 2

526230 023 131103016 4

526230 024 131103017 2

526230 025 131117023 2

526230 026 131118012 2

526230 027 131103011 2

526230 028 130602004 4

526230 029 130604010 2

526230 030 130302012 2

526230 031 130301032 2

526230 032 130301025 2

526230 050 426230790 ﾓｰﾀｹｰｽ 1

526230 051 426230180 ﾘﾔﾌﾟﾚｰﾄ 1

526230 052 426230160 ｼﾘﾝﾀﾞ 1

526230 053 426230150 ﾛｰﾀ 1

526230 054 426230170 ﾌﾛﾝﾄﾌﾟﾚｰﾄ 1

526230 055 137102032 ﾍﾞｰﾝ 8

526230 056 130802212 ﾘﾌﾄｽﾌﾟﾘﾝｸﾞ 8

526230 057 426230460 ﾘﾐﾂﾄｼﾔﾌﾄ 1

526230 058 426230A40 ﾘﾐﾂﾄｼﾔﾌﾄﾌﾞﾂｼﾕ 1

526230 059 426230140 ﾘﾐﾂﾄﾚﾊﾞｰ 1

526230 060 130128104 2

526230 061 426230120 ﾛｰﾗｼﾔﾌﾄ 2

526230 062 426351110 ﾁｴｰﾝﾚﾊﾞｰ 1

526230 063 136102166 ﾓｰﾀｶﾞｽｹﾂﾄ 1

ﾊﾞﾙﾌﾞﾌﾞﾂｼﾕ(U)

ﾊﾞﾙﾌﾞﾌﾞﾂｼﾕ(D)

ｻｲﾚﾝｻｰ(S)

1/2 ﾈｯﾄｽｸﾘｰﾝ

ｽﾌﾟﾘﾝｸﾞ 26X20X2.6

DUﾌﾞﾂｼﾕ DUB0705

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M5X50

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾀﾝｺﾈｼﾞ  M5X10

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ   M5X5

Oﾘﾝｸﾞ  S-7

Oﾘﾝｸﾞ  S-15

Oﾘﾝｸﾞ S-20

Oﾘﾝｸﾞ S-22

Oﾘﾝｸﾞ  AS568-023

Oﾘﾝｸﾞ  AS568-012  (HS90ﾟ)

Oﾘﾝｸﾞ S-12.5

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    2X4

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    4X10

ｽﾅﾂﾌﾟﾘﾝｸﾞ  S-12

ｽﾅﾂﾌﾟﾘﾝｸﾞ H-32

ｽﾅﾂﾌﾟﾘﾝｸﾞ  H-25

ﾍﾞｱﾘﾝｸﾞ  MR104ZZ



Sheet4

ページ 2

526230 064 137402024 1

526230 065 130104003 2

526230 066 130151210 2

526230 067 131706020 3

526230 068 131708110 1

526230 069 131706014 2

526230 070 131103012 2

526230 071 131103019 1

526230 072 131102009 1

526230 073 130604016 1

526230 075 130603005 1

526230 076 130302015 1

526230 077 130301028 1

526230 078 130790008 1

526230 079 130303003 4

526230 100 426230A00 ｾﾝﾀｰﾊｳｼﾞﾝｸﾞ 1

526230 101 426230A50 ﾛｰﾄﾞｼｰﾌﾞ 1

526230 102 426230200 ｶﾂﾌﾟﾘﾝｸﾞ 1

526230 103 426230350 ﾁｴｰﾝｶﾞｲﾄﾞ 1

526230 104 426230360 ﾁｴｰﾝｾﾊﾟﾚｰﾀ 1

526230 105 130106009 2

526230 106 131706020 4

526230 107 132106006 1

526230 108 131103006 1

526230 109 131103052 1

526230 110 131117043 1

526230 111 130608060 2

526230 113 42623055C 0

526230 114 138063035 0

526230 150 426230410 ﾌﾞﾚｰｷｶﾊﾞｰ 1

526230 151 426230400 ﾌﾞﾚｰｷﾋﾟｽﾄﾝ 1

526230 152 426230430 ﾌﾞﾚｰｷﾃﾞｲｽｸ 1

526230 153 130802213 ﾃﾞｲｽｸｽﾌﾟﾘﾝｸﾞ 6

526230 154 137301064 1

526230 155 131706045 4

526230 156 132105005 1

526230 157 131103052 1

526230 158 131103045 1

526230 200 426230310 ｷﾞﾔｹｰｽ 1

526230 201 426230A60 ﾌｱｰｽﾄﾋﾟﾆｵﾝ 1

526230 202 426230A70 ﾌｱｰｽﾄｽﾀｰｷﾞﾔ 3

526230 203 426230A80 ﾌｱｰｽﾄﾋﾟﾝ 3

526230 204 426230E10 ﾌｱｰｽﾄﾘﾝｸﾞｷﾞﾔ 1

526230 205 426230E20 ｾｶﾝﾄﾞﾋﾟﾆｵﾝ 1

526230 206 426230E30 ｾｶﾝﾄﾞｽﾀｰｷﾞﾔ 3

526230 207 426230E40 ｾｶﾝﾄﾞﾋﾟﾝ 3

526230 208 426230E50 ｾｶﾝﾄﾞﾘﾝｸﾞｷﾞﾔ 1

526230 209 426230240 ｹｰｼﾞ 1

ｻｲﾚﾝｻｰ(M)

ﾍﾞｱﾘﾝｸﾞ 6002

ﾆ-ﾄﾞﾙﾍﾞｱﾘﾝｸﾞ  TLA-1210

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M6X20

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M8X110

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M6X14

Oﾘﾝｸﾞ  S-14

Oﾘﾝｸﾞ  S-24

Oﾘﾝｸﾞ  G-65

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    4X16

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    3X 5

ｽﾅﾂﾌﾟﾘﾝｸﾞ S-15

ｽﾅﾂﾌﾟﾘﾝﾞ  H-28

ｽﾅﾂﾌﾟﾋﾟﾝ  8

ｽﾅﾂﾌﾟﾘﾝｸﾞ E-3

ﾍﾞｱﾘﾝｸﾞ  6008ZZ

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M6X20

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ   M6X6

Oﾘﾝｸﾞ  S-8

Oﾘﾝｸﾞ  S-90

Oﾘﾝｸﾞ AS568-043

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    8X60

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP

ﾁｴﾝ     6.3MM X  3.5M (ISO)

ﾈｰﾑﾌﾟﾚｰﾄ(490KG)

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M6X45

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ   M5X5

Oﾘﾝｸﾞ  S-90

Oﾘﾝｸﾞ  S-65



Sheet4

ページ 3

526230 210 426230890 ﾛﾂｸｽｸﾘﾕｰ 1

526230 211 426230900 ﾌﾞﾚｰｷﾌﾟﾚｰﾄ 1

526230 212 130113001 2

526230 213 130120004 1

526230 214 130104006 1

526230 215 130131020 3

526230 216 130131212 3

526230 217 131706020 3

526230 218 131908015 1

526230 219 131307012 3

526230 220 131307008 1

526230 221 131103006 1

526230 222 131103052 1

526230 223 130603014 2

526230 224 130606015 2

526230 225 130302012 3

526230 250 420982PF1 ﾌﾂｸ 1

526230 251 420620P11 1

526230 252 131704028 1

526230 253 130802046 ﾌﾂｸｽﾌﾟﾘﾝｸﾞ 1

526230 254 426230570 1

526230 255 132805025 2

526230 256 134501004 1

526230 260 426230931 ｽｲﾍﾞﾙﾌﾂｸ 1

526230 261 420620P11 1

526230 262 131704028 1

526230 263 130802046 ﾌﾂｸｽﾌﾟﾘﾝｸﾞ 1

526230 264 134501004 1

526230 270 130502020 7

526230 271 426230800 ｱﾝﾀﾞｰﾌﾂｸﾎﾙﾀﾞｰ 1

526230 272 420846PY0 ｽｲﾍﾞﾙﾌﾂｸﾌﾟﾗｸﾞ 1

526230 273 426230760 ｽﾘｰﾌﾞ 1

526230 274 426230E70 ｽﾘｰﾌﾞﾋﾟﾝ 1

526230 275 130802286 ﾛﾂｸﾘﾝｸﾞ 1

526230 280 130802219 1

526230 281 426230G20 ﾁｴｰﾝﾜﾂｼﾔ 1

526230 300 420218VB0 ｽﾛﾂﾄﾙﾊﾞﾙﾌﾞ 2

526230 301 420223VR0 ﾊﾞﾙﾌﾞﾎﾞﾃﾞｰ 1

526230 302 420218VF0 ﾌﾞﾂｼﾕ 2

526230 303 420223W40 1

526230 304 420223W30 1

526230 305 130402052 ﾚﾊﾞｰﾋﾟﾝ 1

526230 306 130802220 2

526230 307 420223W50 ﾌﾛﾝﾄｹｰｽ 1

526230 308 420223W60 ﾘﾔｹｰｽ 1

526230 309 136608254 ﾌﾞｰﾂ 1

526230 310 131705010 1

526230 311 132405014 3

ﾍﾞｱﾘﾝｸﾞ  6900

ﾍﾞｱﾘﾝｸﾞ  EE-4

ﾍﾞｱﾘﾝｸﾞ  6005

ﾆ-ﾄﾞﾙﾍﾞｱﾘﾝｸﾞ  TA-1020Z

ﾆ-ﾄﾞﾙﾍﾞｱﾘﾝｸﾞ  TA-1212

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M6X20

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾀﾝﾎﾞﾙﾄ M8X15

ﾋﾗｻﾞｶﾞﾈ  M12 ﾐｶﾞｷﾏﾙ

ﾋﾗｻﾞｶﾞﾈ  M8 ﾐｶﾞｷﾏﾙ

Oﾘﾝｸﾞ  S-8

Oﾘﾝｸﾞ  S-90

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ 3X14

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    6X15

ｽﾅﾂﾌﾟﾘﾝｸﾞ  S-12

ﾌﾂｸｾﾌﾃｲｸﾛ-

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M4X28

ﾌﾂｸｴﾝﾄﾞﾋﾟｰｽ (ｸﾐ)

ﾛﾂｶｸｱﾅﾂｷｻﾗｺﾈｼﾞ  M5 X 25

Uﾅﾂﾄ  M4

ﾌﾂｸｾﾌﾃｲｸﾛ-

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M4X28

Uﾅﾂﾄ  M4

ｽﾁ-ﾙﾎﾞ-ﾙ   5/16

ｽﾌﾟﾘﾝｸﾞ 30X55X5

ﾚﾊﾞｰ D

ﾚﾊﾞｰ U

ｽﾌﾟﾘﾝｸﾞ 6X14X0.6

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M5X10

ｼﾞﾕｳｼﾞｱﾅﾂｷﾅﾍﾞｺﾈｼﾞ  M5 X 14(ｸﾛ)



Sheet4

ページ 4

526230 312 132904220 6

526230 313 132105005 4

526230 314 134902003 1

526230 315 131307005 1

526230 316 131109001 2

526230 317 131103008 2

526230 318 131103009 2

526230 330 135106301 1

526230 331 426230E80 2

526230 332 137501012 3

526230 336 137309290 1

526230 337 137502034 5

526230 338 137502036 2

526230 339 137502037 2

526230 350 426230470 ｱﾝﾀﾞｶﾊﾞｰ 1

526230 351 137402033 ﾊﾟｲﾛﾂﾄｻｲﾚﾝｻｰ 1

526230 352 131705030 1

526230 353 131705020 2

526230 354 132105016 2

526230 355 132105005 1

526230 356 132905206 3

526230 357 134403205 2

526230 358 131103004 3

526230 359 136608250 ﾌﾞｰﾂ 1

526230 360 137240924 3

526230 361 426230F1B 1

526230 363 135106301 3

526230 364 137501012 3

526230 365 131705010 1

526230 366 131307005 1

526230 450 137309268 ﾌﾟﾗﾝﾄﾞﾈｰﾑﾌﾟﾚｰﾄ 1

526230 451 135000500 ﾎｰｽﾆｯﾌﾟﾙ 1

526230 452 134800004 1

526230 453 135600004 1

526230 454 136503004 1

526230 713A 426230550 ﾁｴｰﾝﾊﾞｽｹﾂﾄ 1

526230 713B 426230921 ﾊﾞｹﾂﾄｱｰﾑ 1

526230 713C 426230F40 1

526230 713D 426230F50 1

526230 713E 138041008 1

526230 713F 131706020 1

526230 713G 131706014 2

526230 713H 134501008 1

526230 713J 134501006 4

526230 713K 131307008 2

526230 713L 131307006 5

526230 713M 130702120 1

526230 713N 130702015 1

Pﾀｲﾄﾈｼﾞ 4X20 (ｸﾛ)

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ   M5X5

ﾛﾂｶｸｱﾅﾂｷﾌﾟﾗｸﾞ PT1/8 1ｼﾕ

ﾋﾗｻﾞｶﾞﾈﾐｶﾞｷﾏﾙ M5

Oﾘﾝｸﾞ  S-3   (HS90ﾟ)

Oﾘﾝｸﾞ S-10

Oﾘﾝｸﾞ  S-11.2

ﾎｰｽﾆﾂﾌﾟﾙ H-1 PT1/8-7

ﾎｰｽﾆﾂﾌﾟﾙ (S)

ﾎｰｽﾊﾞﾝﾄﾞ (5.6-16)

ﾌﾞﾗﾝﾄﾞﾏｰｸ(TOKU)

ｹﾂｿｸﾊﾞﾝﾄﾞ 100 (ｱｶ)

ｹﾂｿｸﾊﾞﾝﾄﾞ 100 (ｼﾛ)

ｹﾂｿｸﾊﾞﾝﾄﾞ 100 (ｸﾛ)

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M5X30

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M5X20

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ   M5X16

ﾛﾂｶｸｱﾅﾂｷﾄﾒﾈｼﾞﾋﾗｻｷ   M5X5

ｼﾞﾕｳｼﾞｱﾅﾂｷｻﾗｺﾈｼﾞ  M5X6 ﾒﾂｷ

ﾛﾂｶｸﾅﾂﾄ M5 (3ｼﾕ) ﾒﾂｷ

Oﾘﾝｸﾞ  S-6

ｳﾚﾀﾝﾎｰｽ HR-6R 2M

ﾍﾟﾝﾀﾞﾝﾄﾜｲﾔ2M CP

ﾎｰｽﾆﾂﾌﾟﾙ H-1 PT1/8-7

ﾎｰｽﾊﾞﾝﾄﾞ (5.6-16)

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ M5X10

ﾋﾗｻﾞｶﾞﾈﾐｶﾞｷﾏﾙ M5

1/2ﾎ-ｽﾕﾆｵﾝ ﾎ-ｽｽﾃ-ﾑ

1/2ﾎ-ｽﾕﾆｵﾝ ﾎ-ｽﾅﾂﾄ

ﾎﾟﾘｾﾝ   1/2

ﾊﾝｶﾞﾎﾞﾙﾄ M8

ﾊﾝｶﾞﾎﾞﾙﾄ M6

ﾁｴﾝ 5XP15X8ﾘﾝｸ

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M6X20

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾙﾄ  M6X14

Uﾅﾂﾄ M8

Uﾅﾂﾄ  M6

ﾋﾗｻﾞｶﾞﾈ  M8 ﾐｶﾞｷﾏﾙ

ﾋﾗｻﾞｶﾞﾈ  M6 ﾐｶﾞｷﾏﾙ

ﾜﾘﾋﾟﾝ  2.5X20

ﾜﾘﾋﾟﾝ  2  X15



Sheet4

ページ 5

526230 800 137240925 1

526230 801 137502044 1

526230 811 420223VRD 1

526230 850 42623057F 1

526230 851 42623070C 1

526230 860 42623093F 1

526230 861 42623093G 1

526230 870 426230WAC 1

526230 871 426230WBC 1

526230 872 426230WCC 1

526230 873 426230YAC 1

526230 878 426230YFC 1

526230 880 426230YHC 1

526230 881 426230YIC 1

526230 882 426230YJC 1

526230 883 426230ZBC 1

526230 887 426230ZFC 1

526230 889 426230ZHC 1

526230 890 426230ZIC 1

526230 891 426230ZJC 1

526230 901 137248003 1

526230 913 426230F2C 0

526230 914 130802030  ﾊﾞﾙﾌﾞｽﾌﾟﾘﾝｸﾞ 2

526230 950 420982PF0 ﾌﾂｸ 1

526230 951 420620P10 1

526230 952 130603024 1

526230 953 426230930 ｽｲﾍﾞﾙﾌﾂｸ 1

526230 954 137301062 ﾈｰﾑﾌﾟﾚｰﾄ 1

526230 955 42623057B 1

526230 956 42623093C 1

526230 957 42623093B 1

526230 961 137248002 1

526230 962 426230110 ﾁｴｰﾝﾚﾊﾞｰ 1

526230 969 131906012 2

526230 981 131357024 1

ｳﾚﾀﾝﾎｰｽ HR-6R 100M
ｽﾃﾝﾚｽﾋﾞﾆｰﾙﾋﾌｸﾜｲﾔﾛｰﾌﾟ 
2MMX100M(7X7)

ﾍﾟﾝﾀﾞﾝﾄﾊﾞﾙﾌﾞ ASSY

ｱﾂﾊﾟｰﾌﾂｸ CP

ﾎ-ｽﾆﾂﾌﾟﾙ CP

ｱﾝﾀﾞｰﾌﾂｸ CP

ｱﾝﾀﾞｰﾌﾂｸ ASSY

ﾁｴｰﾝﾊﾞｽｹﾂﾄ 15M CP

ﾁｴｰﾝﾊﾞｽｹﾂﾄ 20M CP

ﾁｴｰﾝﾊﾞｽｹﾂﾄ 35M CP

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP(ﾃﾂ) 6M ﾀﾃﾅｶﾞ

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP(ﾃﾂ) 20M ﾀﾃﾅｶﾞ

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP(ﾃﾂ) 30M ﾀﾃﾅｶﾞ

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP(ﾃﾂ) 34M ﾀﾃﾅｶﾞ

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP(ﾃﾂ) 40M ﾀﾃﾅｶﾞ

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP(ﾃﾂ) 10M ﾊﾊﾞﾋﾛ

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP(ﾃﾂ) 20M ﾊﾊﾞﾋﾛ

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP(ﾃﾂ) 30M ﾊﾊﾞﾋﾛ

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP(ﾃﾂ) 34M ﾊﾊﾞﾋﾛ

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP(ﾃﾂ) 40M ﾊﾊﾞﾋﾛ

ｽﾃﾝﾚｽﾜｲﾔﾛｰﾌﾟ M2X100M

ﾁｴｰﾝﾊﾞｽｹﾂﾄCP

ﾌﾂｸｾﾌﾃｲｸﾛ-

ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ    3X24

ｱﾂﾊﾟｰﾌﾂｸ CP

ｱﾝﾀﾞｰﾌﾂｸ ASSY

ｱﾝﾀﾞｰﾌﾂｸ CP

ｽﾃﾝﾚｽﾜｲﾔﾛｰﾌﾟ M2X2.05M

ﾛﾂｶｸｱﾅﾂｷﾎﾞﾀﾝﾎﾞﾙﾄ M6X12

ﾊｲﾃﾝｼﾖﾝﾎﾞﾙﾄﾖｳ ﾜﾂｼﾔｰ M24


	Sheet4
	Sheet1

